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Let us consider the pushdown automaton M shown in Eq. (1.1) and Fig. 1.
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b, Z/BZ
a, B/AB a,Ale
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X1 PDA M
Q@ ={q00-91, ¢}
Y ={a,b} (1.1)
I'={A,B, 7}

F= {Q2}



6 (qo,a,Z) = (g0, AZ), 6 (g0, b, Z) = (0, BZ)
¢ (q0,a, B) = (g0, AB) , 6 (qo, b, A) = (g0, BA)
6 (qo,a, A) = (q1,¢€), 6 (qo, b, B) = (q1,¢€),

0 (q1,b, B) = (q1,¢€), o (q1,a,4) = (qu,¢€),

0 (q1,6,2Z) = (q2,€)
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Show the behavior of the PDA M for the input strings ababbaba and babaabab.
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(qo, ababbaba, Z) I (qo, babbaba, AZ)
(o, abbaba, BAZ)
(o, bbaba, ABAZ)
(qo, baba, BABAZ)
(q1,aba, ABAZ)
(q1,ba, BAZ)
(q1,8, AZ)
(q1,¢,2)

(g2, € )
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(qo, babaabab, Z) F (qo,abaabab, BZ)
qo, baabab, ABZ)
qo,aabab, BABZ)
qo,abab, ABABZ)

qhbM)BABZ)
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Let us consider the pushdown automaton M shown in Eq. (1.2) and Fig. 2.



c,Afe

X2 PDA M

Q= {QO-Q17Q2,CI3}

¥ ={a,b,c} (1.2)
r={A7}
F={g}

6 (g0, 2, Z) = (q0, AZ) 6 (g0, a, A) = (qo, AA),

4 (qo, b, A) = (q1,€) , 6 (qo, ¢, A) = (g2, €) ,

6 (q1,b, A) = (qu,¢€), 6 (q2,¢,A) = (q2,€)

0 (q1,¢6,Z) = (g3,€), 5(qz,6 Z) = (ga,€)
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Show the behavior of the PDA M for the input strings aaabbb and aacc.
FRER

(qo,aaabbb, Z) F (qo, aabbb, AZ)
F (qo,abbb, AAZ)
- (qo, bbb, AAAZ)
- (q1,bb, AAZ)
F(q1,b, AZ)
- (q1,6 2)
= (



F (qo,acc, AZ)
C

) (QOa C )

aacc, A ( .

(QOa ( - )

Z)
- (g2, €
= (

g3, €, 6)



